XVI Warsaw Solving Grand Prix
25-26.11.2017

1* Round

2#

20 min

Time used:

Points:

Name:
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E E . Aleksandr Gulyaev,
. . Shakhmaty v SSSR 1948, 3HM
i..... 1. Sf4! (5)
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Alex Casa,
The Problemist 2000
1. Sf4!+ (5)

Dragan Stojnic,
Wola Gutowska 2003
2nd Comm.

1. Rb8! (5)

Arbiter: Ryszard Krélikowski
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2" Round 3# Time used: Points:

60 min

Name: ® i B a o3 A

Brian Tomson,
Sunday Times 1971

1. Rb3! zz
1...Sc7 2. Rb6 e
1...Sb6 2. Rb4 e

1...Sd7/h7/g6 2. Bd4+ e

e (1,6) o0 (3,3) @00 (5

J osvef Moravec,
Sach 1940

1. Rb3! [2. Qc4+]
1...Sb4 2. Qc5+ e 1...Bxc8 2. Qco+ @
1...Kxe4 2. QcH6+e 1...1f32. Scd6 e
1...Rxd3 2. Sbo+ e 1...Rxb3 2. Qxb3+ e
e (0,7) e (1,4) eee (2,1) o000 (2,8) 00000 (35)

eecocee (42) eeeeeee (5

Denis Saunders,
The Problemist 1993

1. Sxc7! [2. Sxd5] (1)
1...d6 2. Kxe6 (1) 1... Rxc7 2. Bxd5+ (1)

1...g42.Qxgd+ (1) 1..Sg32.Bxg3(1)

Arbiter: Ryszard Krélikowski
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3" Round

endgames:

100 min

Time used: Points:

Name:

2 % B a b 3

Yurij Zemlyanskij
Tsereteli 150 JT, 1991

1.Ra4 Nh6 2.Kg5* (1) Rxf5+ 3.Kg6 Rf8 4.a7 Ra8
5.Rb4 (1) Nf7 6.Rb8+ Nd8 7.Kh6 (1) Rxb8
8.axb8B (1) [8.axb8Q?] 8...Nf7+ 9.Kg6 Nd6 10.Bc7! (1)
[10.Ba7? Nf5 11.Bc5 Ne7+] 10...Nf7 11.Bf4 Ng5 12.Be5# 1-0
* [cook 2.a7 Rxf5+ 3.Ke4 Rf8 4.Rb4 1-0 - 5 p.]

N. Rezvov & V. Chernous
sp.hm Tsereteli 150 JT, 1991

1.g8Q! (1[1.Kb7+? Bc8+ 2.Rxc8+ Kd7 3.Rd8+! Kxd8 4.Nc6+
Kd7 5.7 (5.g8Q h1Q!) 5..Nxf7! 6.g8Q Nd8+! 7.Kb6 h1Q!]
1...Nxg8 [1...h1Q 2.Qg5 Qb1+ 3.Ka7+ Bc8 4.f7+ Kd7 5.f8N+
Kc7 6.Qe7+] 2.Kb7+ Bc8+ 3.Rxc8+ Kd7 4.Rd8+! (2) Kxd8
5.Nc6+ Kd7 6.f7 d5! [6...h1Q 7.f8N#] 7.fxg8Q (1)
[7.£8Q? Nd6+! 8. Kb6 Nc8+ 9.Kc5 h1Q] 7...Nd6+ 8.Kb6 h1Q
9.Qg7+! Ke6 10.Nd4# (1) 1-0

Andrzej Jasik
Original for XVI WSGP 2017

1.Rxg4 (1) Bxg4 2.Nb5+ cxb5 3.c8N+ (1) Qxc8
4.Qxg4 Qd7 5.Kh5 (1) Bg3
[5...Bg5 6.Re7 Qxe7 7.Qd7+ (1) Qxd7 =]
6.Re7 Qxe7 7.Qg7 (1) Qxg7 =

Arbiter: Ryszard Krélikowski
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4™ Round h#

Time used: Points:

® i B a o3 A

b-+ @hs

Gyorgy Paros,
Magyar Sakkvilag, Norbert Kovacs MT 1948
1st Prize

a) 1. Rh3 Qxe3 2. Kg3 Qgl# (2,5)

b) 1. Kf5 Qh8 2. Ke6 Sg7# (2,5)

Eduards Valcins,
Magyar Sakkélet 1966

1.d5 Bf8 2. Be7 Rb4 3. Bg5 Bdo6# (2,5)

1. Sg2 Bg6 2. Qf5 Bf23.Qg5 Bg3# (2,5)

H#5 a - diagram 2+12
b- 492 {5

Chris Feather
Australasian Chess 2011

a) 1. d5 Bf2 2. g1=Q+ Bel 3. Qa7 Bg3 4. Qf7 gxf7 5. gb6 f8=Q#
(2,5)

b) 1. Ke5 Bd4+ 2. Kf4 Bxg7 3. Be7 Bh8 4. Kg5 g7 5. Kf6 g8=Q#
(2,5)

Arbiter: Ryszard Krélikowski
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5" Round

n#

Time used: Points:

Name:

2 % B a b 3

Leonid Lyubashevsky & Leonid Makaronets,
The Problemist 2013

1. Sf4! [2. Sfxg6+ hxg6 3. h7] e
1... cxd2 2. Qxal+ Rb2/Rc3 3. QxR+ @
1... Bh5 2. Sxd3+ exd3 3. Qa4 @

1. ... Sb3 2. Sfd5 exd5 3. Qxb3 e

e (1,2) o0 (2,5) eee (3)7) eeee (5)

Rolf Trautner,
Main-Post 1965
1st Prize,

1. Sc4! [2. Bxd2#]

1... Rd8 2. Rd6 Rxd6 3. Se3 ~ 4. S~xg2+ (2,5)
3...Rgb6 4. Sg4 (2,5)

Aleksandr Kuzovkov,
HM., Probleemblad 2013

1. Qc2! [2. Qh2+ Ke4 3. Rf4+ Kxe3 4. Qf2+] (1,3)
1... Bg2 2. Rf3+ Kxe6 3. Qe4+ Rxe4 4. Rf6+ (1,3)
... Rg4 2. Rf4+ Kxeb6 3. Qed4+ Bxe4 4. Rf6+ (1,3)

I... Rg5 2. Qh2+ Rg3! 3. Rf5+ Ke4 4. Re5+/ Qc2+ (1,1)

Arbiter: Ryszard Krélikowski
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Time used: Points:

® i B a o3 A

Waldemar Tura,
Problemista 1964
2nd Prize
1. Qe3! [2. Sxa3+] e
1...Rxe3 2. Rxed+ o
1...Sxe3 2. Be6+ o

e (1,6) o0 (3,3) @00 (5
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Diyan Kostadinov,
StrateGems 2011
1st HM

1. Qgd! [2. Rel ~ 3. exd3+] (1)
2...dxe2 3. Qed+ (1)

I... hxgl=B 2. Sc6+ Kxd5 3. Qd4+ (1,5)

I... hxgl=S 2. f4+ Ke4 3. Qf3+ (1,5)
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Ilja Mikan,
Tyden Rozhlasu 1943
4th HM
1. Rbd4! zz
1...b4 2. b3 Bgl 3. Rd5 Bh2 4. Kd4 Bgl 5. Qe5+ (2,5)

1... Bgl 2. Sb4 Bh2 3. Rh6 Bgl 4. Rd3+ Kg4 5. Qe6+ (2,5)

Arbiter: Ryszard Krélikowski




Problems Difficulty (22 Solvers)

ID|Tag|Average|5(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
91 = 0.45 0 5 17 0
18|S#5]| 0.68 2 2 18 0
71 + 1.27 3 7 12 0
6| #3 1.32 4 3 15 0
+ 1.68 3 8 11 0
15] #5 1.94 7 3 12 0
12|H#5] 2.05 6 6 10 0
21 #2 ] 227 10 0 12 0
13] #4 | 2.60 8 6 8 0
11|H#3] 2.61 8 7 7 0
31#2 | 295 13 0 9 0
1|#2 | 3.41 15 0 7 0
14| #5 | 3.64 14 4 4 0
51#3 1 3.90 11 8 3 0
10|H#2| 3.98 15 5 2 0
17|S#3| 4.32 19 0 3 0
16|S#2| 4.77 21 0 1 0
4| #3 | 4.85 21 1 0 0

| Created by WFCC Solving Tournament Manager |




